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In this workbook, you will be asked to calculate denary numbers from their binary equivalent. Fill out the missing boxes on each table.

The first row are the position values

The second row is where the binary number is entered

The third row is the calculation, where the two are multiplied together

The fourth is the result

The fifth is where you work out the denary equivalent of your starting binary number


Task 1: binary number = 00001111

	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	0
	0
	1
	1
	1
	1



	128 * 0
	64 * 0
	32 * 0
	16 * 0
	8 * 1
	4 * 1
	2 * 1
	1 * 1



	
	
	
	
	
	
	
	

	Answer
	


Task 2: binary number = 00101010

	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	1
	0
	1
	0
	1
	0



	128 * 0
	64 * 0
	32 * 1
	16 * 0
	8 * 1
	4 * 0
	2 * 1
	1 * 0



	
	
	
	
	
	
	
	

	Answer
	


Task 3: binary number = 01011011

	128
	64
	32
	16
	8
	4
	2
	1



	0
	1
	0
	1
	1
	0
	1
	1



	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 4: binary number = 00101101

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 5: binary number = 11001100

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 6: binary number = 11100010

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 7: binary number = 01101001

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 8: binary number = 00010001

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 9: binary number = 10000101

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 10: binary number = 00100111

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 11: binary number = 11101110

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 12: binary number = 01010101

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Task 13: binary number = 11010100

	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	128 *


	64 *
	32 * 
	16 * 
	8 *
	4 *
	2 *
	1 *

	
	
	
	
	
	
	
	

	Answer
	


Example 1: binary number = 00000011


128�
64�
32�
16�
8�
4�
2�
1


�
�
0�
0�
0�
0�
0�
0�
1�
1


�
�
128 * 0�
64 * 0�
32 * 0�
16 * 0�
8 * 0�
4 * 0�
2 * 1�
1 * 1


�
�
0�
0�
0�
0�
0�
0�
2�
1


�
�
Answer�
2 + 1 = 3


�
�









Example 2: binary number = 00001011


128�
64�
32�
16�
8�
4�
2�
1


�
�
0�
0�
0�
0�
1�
0�
1�
1


�
�
128 * 0�
64 * 0�
32 * 0�
16 * 0�
8 * 1�
4 * 0�
2 * 1�
1 * 1


�
�
0�
0�
0�
0�
8�
0�
2�
1


�
�
Answer�
8 + 2 + 1 = 11


�
�
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